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Question 1

Question Type: MultipleChoice

Which of the following best describes how JavaScript communicates with databases when used with AJAX?

Options:

A- It provides a limited set of database operations such as retrieving data and displaying it back to the originating Web page.
B- It performs back-end database operations such as modifying the database schema.
C- It is used to change database security permissions.

D- It was designed to perform queries on databases.

Answer:

D

Question 2

Question Type: MultipleChoice




What basis code is needed to define the JavaScript function avgGrades?

Options:

A- Function avgGrades () {}
B- avgGrades function ()
C- avgGrades (){ }

D- var = function avgGrades () {}

Answer:

Question 3

Question Type: MultipleChoice

Considering the following code:

Var1l;



For(I=1;1

What part of the code fragment initializes the counter variable?

Options:

A-i++
B-i<10;
C-i=1;

D- Var 1;

Answer:

C

Question 4

Question Type: MultipleChoice

Geraldine is creating a custom object to store user account data on her Web site. She has written the following code it is not working
properly. What change should she make to enable the script to run correctly?



Options:

A- She must remove the this keyword from the left side of the assignment variables
B- She must add the parameters username. password and email to the function definition
C- She must change the this keyword to the object keyword on the left side of the assignment variables

D- She must change the function keyword to the object keyword in the function definition

Answer:

A

Question 5

Question Type: MultipleChoice

Which of the following will correctly declare the courseNumber variable as a siring data type?



Options:

A- var courseNumber = "JS101";
B- var courseNumber = "JS101";
C- var_courseNumber = JS101";

D- var courseNumber = JS101;

Answer:

C

Question 6

Question Type: MultipleChoice

Which of the following comparison statement will return true?
A)

X=10;

Y=11;

Y-



X==
B)
X=10;
Y=11,
Y++;
K==\,
C)
X=11;

Y=10;

X== ;

X=11,

Y=10;



X==

Options:

A- Option A
B- Option B
C- Option C
D- Option D

Answer:

D

Question 7

Question Type: MultipleChoice

Which of the following is not a benefit of Web APIs?

Options:




A- Web APIs are frameworks that make it easy to build applications over HTTP services that are accessible over a large range of clients.
B- Web APIs provide an interface for developers to write code themselves instead of using APIs developed by others .
C- Web APIs are best used to create resource-oriented services.

D- Before Web APIs developers had to write the entire code for every task they needed to perform.

Answer:

C

Question 8

Question Type: MultipleChoice

Consider the following code:

What change should be made to ensure that it correctly displays the value of name in all uppercase letters?

Options:




A- Line 2 should be changed to name = name . toUpperCase () ;
B- Line 2 should be changed to name .prototype . toUpperCase () ;
C- Line 3 should be changed to document. write (NAME) :

D- Line 1 should be changed to var name = new sting('Jacchb);

Answer:

C

Question 9

Question Type: MultipleChoice

What is the best practice for testing code to pinpoint a logic error within a script?

Options:

A- Test the code in the W3C code validator.
B- Conduct a manual, line-by-line, code review.

C- Check for console errors when loading the page.



D- Insert watchpoints and comment out code blocks.

Answer:
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